
iz’u&i= dh ;kstuk 2024&2025 

 

d{kk &12
th  

fo"k; & ys[kk'kkL=     

vof/k & 3 ?k.Vs 15 feuV         iw.kkZad&80 
 

1- mn~ns'; gsrq vad Hkkj& 

Ø-l-a mn~ns'; vadHkkj izfr'kr 

1- Kku 25 31.25% 

2- vocks/k  25 31.25% 

3- Kkuksi;ksx 15 18.75% 

4- dkS'ky 07 8.75% 

5- fo’ys"k.k 08 10% 

;ksx 80 100% 
 

2- iz'uksa ds izdkjokj vadHkkj& 

Ø-la- iz'uksa dk izdkj iz'uksa dh 

la[;k 

vad 

izfriz'u 

dqy vad izfr'kr 

¼vadks dk½ 

izfr'kr 

¼iz'uksa 

dk½ 

laHkkfor 

le; 

1- cgqfodYikRed 18 1 18 22.5% 33.96 35 

2- fjDr LFkku 6 1 06 7.5% 11.32 12 

3- vfry?kwÙkjkRed 12 1 12 15.0% 22.64 30 

4- y?kwÙkjkRed 10 2 20 25% 18.87 50 

5- nh?kZmÙkjkRed 4 3 12 15% 7-55 38 

6- fuca/kkRed 3 4 12 15% 5-66 30 

 ;ksx 53 & 80 100% 
 

100 195 

feuV 

fodYi ;kstuk % [k.M ^l* ,oa ^n* esa gS&         

3-     fo"k; oLrq dk vad Hkkj&          
  

Ø-l-a fo"k; oLrq vadHkkj izfr'kr 

1 Lkk>snkjh ys[kkadu&vk/kkjHkwr vo/kkj.kk,a  07 8.75% 

2 Lkk>snkjh QeZ dh iquZxBu&lk>snkjh dk izos'k 11 13.75% 

3 lk>snkjh QeZ dk iquZxBu&lk>snkjksa dh lsokfuo`fÙk@e`R;q 11 13.75% 

4 lk>snkjh QeZ dk fo?kVu  06 7.50% 

5 va'k iwath ds fy, ys[kkadu 12 15% 

6 _.k i=ksa dh fuxZeu  15 18.75% 

7 dEiuh ds foÙkh; fooj.k 04 5% 

8 Yks[kkdau vuqikr 06 7.50% 

9 jksdM+ izokg fooj.k 08 10% 

                                       ;ksx 80 100% 
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1 Lkk>snkjh 

ys[kkadu&vk/kkjHkwr 

vo/kkj.kk,a  

1(2) 1(1)       1(2)       2(1)   

      

      7(6) 

2 Lkk>snkjh QeZ dh 

iquZxBu&lk>snkjh dk 

izos'k 

 1(1)     1(2)  1(1)    1(1) 

 

1(1) 2(1) 3(1)*  

      

 

 

    11(8) 

3 lk>snkjh QeZ dk 

iquZxBu&lk>snkjksa dh 

lsokfuo`fÙk@e`R;q 

1(2)  1(1)    1(1) 1(1)  2(1)         

     

4(1)*  

 

    11(7) 

4 lk>snkjh QeZ dk 

fo?kVu  
1(2) 1(1) 1(1)      

 
2(1)    

 
    

      
 

 
    6(5) 

5 va'k iwath ds fy, 

ys[kkadu 
1(1) 1(1)     1(2)   2(1)      2(1)   

      
     4(1)* 12(7) 

6 _.k i=ksa dh fuxZeu  1(2) 1(1) 1(1) 2(1)   1(2)  1(1)       2(1)              4(1)* 15(10) 

7 dEiuh ds foÙkh; 

fooj.k 

  1(1)  3(1)*    
 

    
 

    
      

 
 

    4(2) 

8 Yks[kkdau vuqikr         1(1)  3(1)*     2(1)               6(3) 

9 jksdM+ izokg fooj.k 1(1)  1(1)      1(1) 2(1)             3(1)*        8(5) 

 
       ;ksx 10(10) 5(5) 5(5) 2(1) 3(1)  7(7) 1(1) 6(6) 8(4) 3(1)  1(1)  1(1)   10(5) 3(1)      3(1) 4(1)      8(2)  

 loZ;ksx 25(22) 25(19) 15(8) 7(2) 8(2) 80(53) 

 

      fodYiksa dh ;kstuk %& [k.M ^l* ,oa ^n* esa izR;sd esa ,d vkarfjd fodYi gS uksV%&dks"Bd ds ckgj dh la[;k ^vadksa* dh rFkk vanj dh la[;k ^iz'uksa* ds |ksrd gSA 

 

;g Cyw fizaV dsoy ekWMy iz’u i= dk gS] cksMZ dk iz’u i= fu/kkZfjr ikB~;Øe ,oa vad ;kstukuqlkj gh gksxkA 



 

mPp ek/;fed ijh{kk] 2025 

Senior Secondary Examination, 2025 

uewuk iz'u&i= 

Model Paper 

fo"k; & ys[kk'kkL= 

le; % 03 ?k.Vs 15 feuV         iw.kkZad % 80 

 

lkekU; funsZ'k %& 

1- ijh{kkFkhZ loZizFke vius iz'u i= ij viuk ukekad vfuok;Zr% fy[kasA 
Candidate must write first his/her Roll No. on the question paper compulsorily. 

2- lHkh iz'u gy djus vfuok;Z gaSA 
 All the questions are compulsory. 

3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA 
Write the answer to each question in the given answer-book only. 

4- ftu iz'uksa esa vkUrfjd [k.M gS muds mÙkj ,d lkFk gh fy[kasA 
 For questions having more than one part, the answers to those parts are to be  

 written together in continuity . 

5- iz'u dk mÙkj fy[kus ls iwoZ iz'u dk Øekad vo'; fy[ksaA   

Write down the serial number of the question before attempting it.  

6- Ikz'u i= ds fgUnh o vaxzsth :ikUrj.k esa fdlh izdkj dh =qfV@vUrj@ 
fojks/kkHkkl gksus ij fgUnh Hkk"kk ds iz'u dks lgh ekusaA  

 If there is any kind of error/difference/contradiction in Hindi & English version of 

 the question paper, the question of the Hindi version should be treated valid. 

 

  

Sub : Accountacny 

 



[k.M & v 

Section - A 

 

1½  cgqfodYih iz'u % ¼i ls xviii½  

 fuEu iz'uksa ds mÙkj dk lgh fodYi p;u dj mÙkj&iqfLrdk esa fyf[k,A  

 Multiple Choice Questions: ¼i to xviii½ 

 Answer the following questions by selecting the correct option and write them 

 in the answer sheet. 

  i) lk>snkjh lays[k ds vHkko esa lk>snkjksa ds e/; fookn dh fLFkfr esa ,d lk>snkj }kjk 

QeZ dks fn, x, _.k ij fdrus izfr'kr dh nj ls C;kt fn;k tk;sxk&  ¼1½

 v½  6%     c½  8% 

  l½  4%     n½  dqN ugha 

 In case of dispute betweem partners in the absence of partnership deed or other 

agreement, what percentage of interest will be paid on the loan given by a partner to 

the firm.  

 A) 6%    B)  8% 

C) 4%              D)  None 

ii) ,d lk>snkjh QeZ esa fLFkj iwath i)fr esa izR;sd lk>snkj ds iwath [kkrksa dh la[;k gksrh 

gS&                      ¼1½  

  v½  ,d     c½  nks 

  l½  rhu    n½  pkj 

     In a partnership firm, in the fixed capital method, how many capital accounts  

         are opened of each partner in the books- 

 A) One    B) Two 

C) Three     D)  Four 

 

 iii) R;kx ds vuqikr dk lw= gS &       ¼1½ 

  v½  iqjkuk vuqikr & u;k vuqikr c½  u;k vuqikr& iqjkuk vuqikr 

  l½  iqjkuk vuqikr + u;k vuqikr  n½  mijksDÙk esa ls dksbZ ugha 

      The formula for calulating sacrifice Ratio is- 

 A)  Old Ratio- New Ratio B) New Ratio-Old Ratio 



C)  Old Ratio+New Ratio D) None of the above 

 iv) fdlh u;s lk>snkj ds izos'k ij ifjlEifÙk;ksa esa gqbZ ewY; o`f) dks fn[kk;k tk,xk& ¼1½ 

  v½ ykHk&gkfu [kkrs ds uke i{k esa    c½ ykHk&gkfu [kkrs ds tek i{k esa 

  l½ iquewZY;kadu [kkrs ds uke i{k esa  n½ iquewZY;kadu [kkrs ds tek i{k esa   

        At the admission of a new partner, increasing value of any asset will be, written 

       in the- 

 A) Debit side of profit and loss account 

 B) Credit side of profit and loss account 

C) Debit side of revaluation account 

D)  Credit side of revaluation account 

  

 v) u;s lk>snkj ds izos'k ij iqLrdksa esa fo|eku [;kfr [kkrs dks can djus dh tuZy     

     izfof"V dh tk;sxhA               ¼1½  

 v½ [;kfr [kkrs uke         c½ iqjkus lk>snkjksa ds iwath [kkrs uke 

    iqjkus lk>snkjksa ds iwath [kkrs ls      [;kfr [kkrs ls  

 l½ u;s lk>snkjksa ds iawth [kkrs uke        n½ [;kfr [kkrs uke  

    [;kfr [kkrs ls          u, lk>snkj ds iwath [kkrs ls 

      On the admission of a new partner, what journal entry will be made to close the   

     existing goodwill account in the books. 

  A) Goodwill account Dr.     B) Old partner's capital accounts Dr.  

          To old partner's capital account        To goodwill account  

  C)  New partner's capital accounts Dr.  D) Goodwill accounts Dr. 

       To goodwill account          To new partner's capital account. 

 

       vi) uVoj] fxj/kj vkSj r:oj ,d QeZ esa 5%3%1 ds vuqikr esa lk>snkj gSA r:oj    

lsokfuo`r gks tkrk gSA vU; fdlh lwpuk ds vHkko esa] uVoj vkSj fxj/kj dk u;k ykHk 

foHkktu vuqikr gksxk %&                                              ¼1½ 

  v½  3%5 c½  5%3  l½  5%1  n½  1%5 

     Natwar Girdhar and Taruwar are partners in a firm sharing profits in 5:3:1 Ratio. 

     Taruwar gets retirement. Without any other information, profit sharing ratio  

      between Natwar and Girdhar will be- 



 A) 3%5    B) 5%3 

C) 5%1    D)  1%5 

 vii) Qk;ns ds vuqikr dh x.kuk dh tkrh gS %&                  ¼1½  

  v½  lk>snkj dh e`R;q ij   

  c½  ,d lk>snkj dh lsokfuo`fr ij  

  l½  lk>snkj ds e/; ykHk foHkktu vuqikr ifjorZu djus ij  

  n½  mijksDr lHkh 

  

         Gaining ratio is calcutated at the time of- 

 A) Death of a partner  

 B) Retirment of a partner 

C) Change of profit sharing ratio among partners  

D)  All the above 

       viii) ,d lk>snkj }kjk iwath dh vkf/kD; jkf'k jksdM+h fudkyus ij tuZy izfof"V dh       

      tk;sxh &          ¼1½ 

  v½  lk>snkj dk iwath [kkrs uke  c½  lk>snkj dk iwath [kkrk uke 

             ykHk gkfu [kkrs ls     cSad [kkrs ls 

  l½  jksdM+ [kkrs uke         n½  ykHk&gkfu [kkrk uke 

   lk>snkj ds iawth [kkrs ls    lk>snkj ds iawth [kkrs ls   

       

  

       The entry for withdrawal of surplus capital by a partner will be- 

 A) Partner's Capital Account Dr.   B) Partner's Capital Account Dr. 

  To Profit & Loss Account   To Bank Account 

C) Bank Account Dr.      D)  Profit and loss Account Dr. 

 To Partner's capital Account  To Partner's Capital Account 

 

              ix) ,d lk>snkjh QeZ ds fo?kVu ij cSad vf/kfod"kZ dks gLrkUrfjr djsxsa &   ¼1½  

  v½  jksdM+ [kkrs esa   c½  cSad [kkrs esa   

  l½  olwyh [kkrs esa        n½  lk>snkjksa ds iwath [kkrksa esa  



              on the dissolutioan of a partnership firm, Bank overdraft account will be  

  transferred to  - 

 A) Cash account   B) Bank account 

C)  Realisation account  D)  Partner's capital account 
 

            x) ,d lk>snkjh QeZ ds fo?kVu ij xSj&vfHkfyf[kr nkf;Roksa dk Hkqxrku djus ij fdl      

     [kkrs dks uke fd;k tk;sxk&                 ¼1½  

  v½  cSad [kkrs dks       c½  olwyh [kkrs dks 

  l½  ykHk gkfu [kkrs dks       n½  iqueZwY;kadu [kkrs dks 

          On the dissolution of a partnershir firm, on the payment of non-recorded   

        liabilities, which account will be debited- 

 A) Bank Account              B) Realisation account  

C) Profit and loss account  D) Revaluation account 
           

  xi) ueLoh fyfeVsM us fxjh'kk fyfeVsM ls 4]80]000 esa ,d Hkwfe [kjhnh blds iw.kZ Hkqxrku 

     esa 10 :- okys lerk va'k 20% izhfe;e ij fuxZfer fd, tkusokys va'kksa dh la[;k      

     gksxh&             ¼1½  

          v½ 48]000 va'k   c½ 60]000 va'k   l½ 40]000 va'k     n½ 50]000 va'k 

     

   Namaswee Ltd. purchased a land from Girisha Ltd. for Rs. 4,80,000 In full 

 payment, Namaswee Ltd, issued equity shares of Rs. 10 each at 20% premium. 

 Number of share issued will be  - 

 A) 48,000   B) 60,000  C) 40,000        D) 50,000 

         xii) ;fn dksbZ va'k/kkjh] dEiuh dks v'akks ij ekax jkf'k dk dqN Hkqxrku ;k leLr            

     Hkqxrku ekax ls iwoZ gh dj nsrk gS rks bl jkf'k dks dgrs gS &          ¼1½ 

  v½  cdk;k ekax jkf'k  c½  vfxze ekax jkf'k   

  l½  vkosnu jkf'k   n½  vkoaVu jkf'k 

         Sometimes share holders pay a part or the whole of the amount of the calls not  

      yet made. The amount so received from the share holder is called as........  

 A) Calls-in-Arear    B) Calls-in-advance  

C) Application amount  D)    Allotment amount 



     xiii) lkj.kh ¼F½ ds vuqlkj cdk;k ekax ij C;kt dks izHkkj fd;k tk;sxk &     ¼1½ 

  v½  10 %    c½  9 %  

  l½  8 %         n½  6 %  

          Interest on calls in arears is charge according to table 'F' at - 

 A) 10 %     B) 9 % 

C) 8 %    D)  6 %  

       xiv) ,Dl fyfeVsM us 14]40]000 ewY; dh ifjlEifRr;k¡ [kjhnhA dEiuh us 100 :- okys       

      8 % _.k i= 4 % cV~Vs ij] Ø; izfrQy ds :i esa iw.kZ Hkqxrku gsrq fuxZfer fd, A 

      foØsrk dks tkjh fd, x, _.k i=ksa dh la[;k gksxh&     ¼1½     

             v½  14]400     c½  15000  

        l½  16000          n½  15]400 

         X Ltd. purchased assets for Rs. 14,40,000. It issued 8% debentures Rs.100  

        each on 4% disount to vendor in full payment. The number pf debentures will  

        be- 

       A)  14]400              B) 15]000  

       C)  16000     D) 15]400 

 

 xv) ifjorZuh; _.k i=ksa dks cV~Vs ij fuxZeu ugha fd;k tk ldrk] ;fn  &    ¼1½ 

        v½  mUgs rRdky gh ifjofrZr djuk gks  c½ mUgs rRdky gh ifjofrZr ugha fd;k tkuk   

   l½  v o c nksuksa gh ifjfLFkfr;ksa esa      n½  mijksDr esa ls dksbZ ugha 

     Convertible debentures can not be issued at a discount, if-- 

A) They are to be immediately converted 

B) They are not to be immediately converted 

C) In both (A) and (B) Conditions 

D) None of the above 

          xvi) _.k i= /kkjh izkIr djrs gS &                  ¼1½ 

          v½  ykHk   c½ ykHkak'k   l½  fdjk;k   n½ C;kt 

       Debenture holders receive- 

A) Profit      B) Dividend  



C) Rent     D) Interest  
 

         xvii) ;fn _.ki=ksa dks cV~Vs ij fuxZfer fd;k tkrk gS rks] fdl [kkrs dks uke fd;k tkrk 

  gS \               ¼1½ 

        v½  v'kkas ij cV~Vk [kkrk   c½ _.k i=ksa ij CkV~Vk [kkrk  

   l½  CkV~Vk [kkrk    n½ ykHk &gkfu [kkrk 

   If debentures are issued at a discount which account is debited ? 

A) Discount on share account B) Loss on issue of debentures account 

C) Discount account   D) Profit and loss account 

       xviii) _.k i=ksa ds leikf'kZd izfrHkwfr ds :Ik esa fuxZeu dh fLFkfr esa] ;fn izfof"V dh tkrh gS 

     rks fdl [kkrs dks uke fd;k tk,xk \                               ¼1½ 

        v½  _.k [kkrk     c½ _.k i= [kkrk  

   l½  _.ki= mpar [kkrk   n½ CkSad [kkrk 

  In the case of issue of debentures as collateral secutity, which account, if entry is   

 made , will be debited ? 

A) Loan Account    B) Debentures Account 

C) Debenture Suspense Account D) Bank Account       

 

 

2)  fjDr LFkkuksa dh iwfrZ dhft,% ¼i ls vi½ 

 Fill in the blanks: ¼i to vi½ 

 i)  lk>snkjksa ds e/; fyf[kr le>kSrk ----------------- dgykrk gSA    ¼1½ 

                         ¼lk>snkjh vf/kfu;e@lk>snkjh foys[k½ 

 A written agreement among partners, containing terms and conditions, is called  

 ...............               (Partnership act / Partnership deed) 

 ii) fdlh O;kolkf;d laLFkk }kjk lkekU; izR;k; dh nj ls vf/kd izfrQy vftZr djus     

    ds ekSfnzd ewY; dks  ---------------- dgrs gSA  ¼[;kfr@lk[k½      ¼1½ 

              

   If a business organisation earns more profits than its normal rate of return.              

    Its monetary value is called ..........           (Goodwill / credit) 

 



 iii) lsokfuo`r lk>snkj ds fgLls dh [;kfr dh {kfriwfrZ fo|eku lk>snkj muds--------------------     

     vuqikr esa djsxsaA                      ¼R;kx@vf/kykHk½  ¼1½ 

    The sahre of goodwill of a retiring partner is compensated by the contuning      

               partners in their ..........ratio.                         (Sacrifice / Gaining) 

 iv) lk>snkjh QeZ ds fo?kVu ij lkekU; lap; dh jkf'k dks -----------gLrkUrfjr fd;k tkrk 

    gSA            ¼1½ 

          ¼olwyh [kkrs esa@lk>snkjksa ds iwath [kkrs esa½  

     At the dissolution of a partnership firm, amount of general reserve will be  

        transfrred to.............              ( Revalution account / Partners capital account) 

 v) os va'k tks ykHkka'k ds Hkqxrku ;k iawth ds iqu% Hkqxrku ds lca/k esa dksbZ vf/kdkj ugha     

     j[krk --------------------va'k dgykrs gSA                    ¼vf/keku@lerk½  ¼1½   

   The share, that has not preferential right in the payment of dividend or repayment     

            of capital is called.......................          (Equityshare /Preference share) 

   vi) os _.ki= tks lqiqnZxh }kjk gLrkUrfjr gksrs gS mUgas ------------ _.k i= dgrs gSA ¼1½ 

          ¼okgd@iathd`r½         

         The debentures, that can be transferred merely by way of delivery, are      

         called...........              (Bearer debentures/ Registered debentures ) 
 

 3½ vfry?kwÙkjkRed iz'u % ¼i ls xii½  

    Very short answer type questions : ¼i to xii½ 

  i)  ykHk&gkfu fu;kstu [kkrk D;ksa cuk;k tkrk gS\    ¼1½ 

    Why is profit and loss appropriation account created?  

 ii) lk>snkjh vksj lk>snkjh QeZ esa nks vUrj crkb,A       ¼1½ 

 Write any two differences between partnership and partnership firm. 

 iii) jkds'k vkSj lqjs'k cjkcj ds lk>snkj gSA os egs'k dks 1/4 Hkkx ds fy, izos'k nsrs gSA         

       muds u, ykHk vuqikr dh x.kuk dhft, A                         ¼1½ 

 Rakesh and Suresh are partners of a firm, profit sharing equally. They admitted 

 Mahesh for 1/4 share. Calculate their new profit sharing Ratio .  

 iv) jk/kk vkSj ehjk 2%1 ds vuqikr esa ,d QeZ ds lk>snkj gSA jhuk lk>snkjh esa izos'k ysrh  

    gSaSA mlh fnu rqyu i= esa ykHk&gkfu [kkrs dk uke 'ks"k 30]000 :- gSA ykHk&gkfu dh      



        jkf'k dk fuLrkj.k dh tuZy izfof"V dhft,A           ¼1½ 

    Radha and Meera are partners in 2:1 Ratio. Reena enters as a new partner in    

     firm. On that day debit balance of profit and loss account Rs. 30,000 is     

            shown in the balance sheet. Give journal entry to close the profit and loss account . 

 v) izNUu [;kfr D;k gS \        ¼1½ 

   what is Hidden goodwill ? 

 vi) ,d QeZ ds fo?kVu ij QeZ ds vU; _.k vkSj lk>snkjksa ls fy, x, _.k esa ls fdl      

    _.k dk Hkqxrku igys fd;k tk;sxk \            ¼1½ 

 On the dissolution of a firm, which of the loans taken from other person and the 

 loan taken from partner will be first paid ? 

 vii) va'k ,oa _.k i= esa dksbZ nks vUrj crkb,A              ¼1½ 

 Write any two differences between share and debenture. 

 viii) lqjf{kr _.k ls D;k rkRi;Z gS \                ¼1½ 

 What dou you mean by secured debentures ? 

 ix) ,d dEiuh ds rqyu&i= esa jgfr;s dks n'kkZb, A         ¼1½ 
 Show Inventory in the balance Sheet of a company. 

 x) pkyw vuqikr dk lw= fyf[k, A            ¼1½ 

 Write formula of current Ratio. 

 xi) jksdM+ izokg fooj.k D;k gS \             ¼1½ 

 What is cash flow statement? 

 xii) ys[kk&ekud&3 ds vuqlkj jksdM izokg fooj.k dks rS;kj djus gsrq fØ;kdykiksa dks     

         fdrus oxksZ esa oxhZd`r fd;k x;k gS \ uke fy[kksA         ¼1½ 

   According accounting standard -3 , how many categories of activites to prepare     

           Cash Flow Statement are classified ? Write Name also. 

 

[k.M & c 

Section - B 

 

  y?kwÙkjkRed iz'u %  

 Short answer type questions:  

 



4½  lhrk vkSj xhrk ,d QeZ esa lk>snkj gSA 1 vizsy 2021 dks muds iwath [kkrksa ds 'ks"k Øe'k% 

3]00]000 vksj 4]00]000 :- gSA 1 flrEcj 2021 dks lhrk us 50]000 :- vfrfjDr iwath 

yxkbZ rFkk 1 tuojh 2022 dks xhrk us 50]000 :- iwath ls fudky fy,A 31 ekpZ 2022 dks 

10 izfr'kr okf"kZd C;kt dh nj ls nksukas lk>snkjksa dh iwath ij C;kt dh jkf'k dh x.kuk 

dhft,                ¼2½ 

 Sita and Gita are partners in a firm. On 01-04-2021 balance of their capital account 

 are 3,00,000. and 4,00,000 respectively. Sita adds extra capital Rs. 50,000 on 01-09-2021. 

 Gita withdraws Rs. 50,000 from his capital on 01-01-2022. Calculate Interest on 

 capital @ 10% p.a. for both partners as on 31-03-2022. 

5½  ,d QeZ dk ykHk &o"kZ 2019&20] 2020&21] 2021&22] esa Øe'k% 30]000] 35000] o 40]000 

:- FkkA QeZ dh iwath 1]50]000 :- dh gSA fofu;ksx ij lkekU; izR;k; dh nj 20% gSA 

fiNys rhu o"kksZ ds vkSlr vf/kykHk ds 3 o"kksZ ds Ø; ds vk/kkj ij [;kfr dh jkf'k x.kuk 

dhft,A      

 Profits of a firm for year 2019-2020, 2020-21, 2021-2022 are Rs. 30,000 , 

35,000,and 40,000 respectively. Total capital of firm is Rs. 1,50,000. normal rate of 

return is 20%. Calcualate value of goodwill based on 3 years purchase of super 

profit of the firm.                             ¼2½ 
 

6½  fiz;adk] lfjrk vkSj lqeu ,d QEkZ esa lk>snkj gSA os 3%2%1 eas ykHk foHkktu djrh gSA lqeu 

lsokfuo`r gks tkrh gSA QEkZ dh iqLrdksa esa [;kfr 40]000 :- n'kkZ;h xbZ gSA [;kfr dk 

ewY;kadu 1]00]000 :- fd;k x;k gSA Hkfo"; esa fiz;adk vkSj lfjrk leku vuqikr esa ykHk 

foHkktu djssaxhA Hkfo"; esa [;kfr [kkrk iqLrdksa esa ugha n'kkZ;k tk,xkA lsokfuo`fr ij 

[;kfr dh vko';d tuZy izfof"V;ka dhft,A          ¼2½ 

 Priyanka , Sarita and Suman are partners in a firm sharing profit in 3:2:1 Ratio . 

 Suman gets retirement. on that day, value of goodwill is shown in balance sheet Rs. 

 40,000. on the retirement , goodwill is revalued for Rs. 1,00,000. In future Priyanka 

 and Sarita will share profit in equal ratio. At the retirement of Suman, give 

 necessary journal entries for treatment of goodwill. In future good will Account will 

 not be shown in the books. 

 

7½  lk>snkjh QeZ ds fo?kVu vkSj lk>snkjh ds fo?kVu esa dksbZ pkj vUrj crkb,A  ¼2½ 



 Write any four distinction between dissolution of partnership and dissolution  of  

 partnership firm.   

8½  U;wu vfHknku ls vki D;k le>rs gSA mnkgj.k }kjk le>kb,A      ¼2½ 

 What do you mean by undersubscription? Give one example.  
 

9½  caly gSoh e'khu fyfeVsM us gks.Mk VªMlZ ls 3]80]000 :- ewY; dh ,d e'khu Ø; dhA 

cnys esa 50]000 :- dk jksdM+ Hkqxrku fd;k x;k vkSj 'ks"k jkf'k ds fy, 100 :- okys va'kksa 

dks 110 :- ij fuxZfEkr  fd;k x;kA                                          ¼2½ 

     mijksDr O;ogkjkas dh caly gsoh e'khu fy- dh iqLrdksa esa jkstukepk izfof"V;ka dhft, 

          

 Bansal Heavy machine Ltd. purchased a machine for Rs. 3,80,000 from Honda 

 Traders. As per purchase agreement Rs. 50,000 were paid in cash and balance paid 

 by issue of shares of  Rs. 100 each for Rs. 110. Give necessary journal entries in the 

 books of Bansal Heavy Mchine Ltd. ? 

 

10½   ,e- fyfeVsM us ,l- fyfeVsM ls 9]00]000 :- dh ifjlEifÙ;kWa [kjhnh rFkk 7]00]000 :-  

 dh ysunkfj;ksa dh ftEesnkjh Hkh yhA 'ks"k jkf'k ds 100 :- izR;sd ds 8% _.ki= lerqY;  

 ij ,l-fy- dks tkjh fd,A ,e-fy- dh ys[kk iqfLrdksa esa vko';d tuZyizfof"V;k¡ dhft,A                                                                   

               ¼2½ 

 M.Ltd. purchased assets from S.Ltd for Rs 9,00,000. It took liabilities for   

 Rs,7,00,000 aslo. It issued 8% debentures of 100 each at par in favour of S Ltd. 

 Give necessary journal entries in the books of M.Ltd. 

 

11½  vof/k ds n`f"Vdks.k ls _.ki= fdrus izdkj ds gksrs gS\ uke fy[krs gq, le>kb,A    ¼2½ 

 How many types of debentures are there from the viewponit of duration? Explain 

 by writing their names ? 

 

12½  pkyw vuqikr 3%5 gSA dk;Z'khy iwath 90]000 :- gSA pkyw ifjlEifÙk;ksa rFkk pkyw nkf;Roksa 

 dh jkf'k dk ifjdyu dhft,A                 ¼2½ 

 Current ratio 3:5, Working Capital 90,000. Calculate sum of current assets and 

 current liabilities. 

 



13½  jksdM+ izokg fooj.k cukus ds ykHk crkb,A            ¼2½ 

 Write benefits of Cash Flow Statement. 

 

[k.M & l 

Section - C 
 

  nh?kZmÙkjkRed iz'u % ¼mÙkj 'kCn lhek yxHkx 100 'kCn½  

 Long answer type questions: (Answer word limit approx: 100 words) 
 

14½  X vksj Y ,d QeZ esa lk>snkj gSA budk ykHk foHkktu vuqikr 2%1 gS os 31-03-2021 dks Z 

 dks 1/4 Hkkx ds fy, izos'k ns nsrs gSA Z 50]000 :- udn ysdj vkrk gS] ftlesa 10]000 

 :- [;kfr dh jkf'k gSA [;kfr dh jkf'k dk lk>snkjksa us udn vkgj.k dj fy;kA        

 31-03-2021 dks QeZ dk rqyu i= fuEu izdkj gS&            ¼3½ 

31-03-2021 dk rqyu&i= 

nkf;Ro jkf'k ifjlEifÙk;kWa jkf'k 

ysunkj 20]000 gLrLFk jksdM+ 10]000 

ns; foi= 10]000 cSdLFk jksdM+ 20]000 

lkekU; lap; 10]000 fofo/k nsunkj 10]000 

iawth&X           1]00]000 

iawth&   Y            50]000  

 

1]50]000 
LVkWd  20]000 

  QuhZpj 30]000 

  e'khujh 1]00]000 

 1]90]000  1]90]000 
    

  Z  ds izos'k ij vko';d tuZy izfof"V;kWa dhft,A  

  X and Y are partners in a firm sharing profits in 2:1 Ratio. They admitted Z on 

 31-03-2021 for 1/4 share in profits. Z brings Rs. 50,000 cash including 

 Rs.10,000 as goodwill. Old partners withdraw share of goodwill in cash. 

 Balance sheet of firm was as under- 

Balance sheet as on 31-03-2021    

Liabilities  Amount  Assets  Amount  

Creditors  20]000 Cash in hand 10]000 

Bills payables  10]000 Cash at bank 20]000 

General reserve  10]000 Debtors  10]000 

Capital- 

X           1]00]000 

 

 

1]50]000 

Stock 20]000 

Y            50]000  



  Furniture  30]000 

  Machinery 1]00]000 

 1]90]000  1]90]000 

  Give necessary journal entries at the admission of z. 

vFkok/OR 

   ,d QeZ dk 31-3-2021 dks rqyu i= fuEu izdkj gS& 

31-03-2021 dk rqyu&i= 

nkf;Ro jkf'k ifjlEifÙk;kWa jkf'k 

fofo/k ysunkj 20]000 gLrLFk jksdM+ 3000 

iwath  

v& 30]000 

c&  20]000  

 

 

50]000 

nsunkj  12]000 

  LVkWd 15]000 

  QuhZpj  10000 

  Hkou  30]000 

    

 70]000  70]000 

  l dks izos'k fn;k x;k vkSj fuEu fu.kZ; fy, x,A   

 1½ l dks QeZ ds ykHkkssa esa 1@6 Hkkx ds fy, 15]000 uxn o 5]000 :- [;kfr dh jkf'k    

    yk;kA  

 2½ LVkWd ds ewY; esa 10% deh dh xbZ vksSj Hkou dk ewY; 40]000 :- vkadk x;kA  

 3½ QuhZpj dk ewY; 8000 fu/kkZfjr fd;k x;kA  

    QeZ dk iqueZwY;kadu [kkrk vkSj lk>snkjksa ds iwath [kkrs cukb,A  

         Balance sheet of a partnership firm is as under 

Balance sheet as on 31-03-2021 

Liabilities  Amount  Assets  Amount  

Sundry Criditors  20]000 Cash in hand+ 3000 

Capital  

A& 30]000 

B&  20]000  

 

 

50]000 

Sundry debtors 12]000 



  Stock 15]000 

  Furniture  10000 

  Buillding 30]000 

 70]000  70]000 

1) C brought Rs.15,000 in cash as capital and Rs. 5,000 as goodwill for his 1/6 share 

in the firm. 

2) Value of stock was reduced by 10% and builliding was valued at Rs. 40,000 

3) The value of furniture was estimated as Rs. 8000 

Prepare revaluation account of the firm and partners capital accounts. 

 

15½  dEiuh vf/kfu;e 2013 dh vuqlwph III ds Hkkx I ds vuqlkj ,d dEiuh ds rqyu&i= dk 

 izk:i cukb,A          ¼3½ 

 Draft format of balance sheet of a company as per part I of Schedule III of the 

 company act 2013.   

    

vFkok/OR 

 ,d dEiuh dh foÙkh; fooj.k ds m)s';ksa dk le>kb,A 

 Explain objectives of making financial statements of a company.  

 

 

 

16½  lw=h ¼v½ dk lwph ¼c½ ds lkFk feyku dhft, %&            ¼3½ 

 

  

 

 

 

 

        Match List 1 and 2 . 

List -1 List-2 

lwph ¼v½&ys[kakdu vuqikr lwph ¼Ck½&oxZ@Js.kh 

¼i½ LokfEkRo vuqikr  ¼v½ nzork vuqikr 

¼ii½ pkyw vuqikr ¼c½ fØ;k'khyrk vuqikr 

¼iii½ jgfr;k vkorZ vuqikr ¼l½_.k 'kks/ku {kerk vuqikr 



(i) Proprietory ratio  A- Liquidity ratio 

(ii) Current ratio B- Operating ratio 

(iii) Inventory turn over ratio C- Solvency ratio 

 

vFkok/OR 

   ,d O;kikjh vkSlru 40]000 :- dk LVkWd j[krk gSA mldk LVkWd vkorZ vuqikr 8 xq.kk 

   gSA ;fn og izpkyu ls vkxe ij 20% ykHk ij csprk gS rks ldy ykHk dh jkf'k dh  

   x.kuk djsaA 

   A trader Keeps an inventory of Rs. 40,000. His inventory turnover ratio is 8   

    Times. If he sells goods at a profit of 20% on revenue from operations, find out  

     the   gross profit.  

17½  31 ekpZ 2023 dks ,Dl fyfeVsM dh fuoy vk; 5]00]000 :- FkhA o"kZ ds nkSjku âkl 

 2]00]000 :- Fkk] lkFk gh ifjlEifÙk;ksa dks cspus ij 50]000 :- dk ykHk gqvk ftls 

 ykHk&gkfu fooj.k esa LFkkukUrfjr dj fn;k x;kA o"kZ ds nkSjku O;kikfjd izkfIr;ksa esa 40]000 

 :Ik;s dh o`f} gqbZ vkSj O;kikfjd ns;rk esa 60]000 :- dh o`f} gqbZA  

 vizR;{k fof/k ds }kjk izpkyu fØ;kdykiksa ls jksdM+ izokg dks ifjdfyr dhft,&     ¼3½ 

 X  Ltd. earned  at a net income of Rs.5,00,000 for the year ended 31st march 2023. 

 Depreciation for the year was Rs.2,00,000. There was a profit of Rs. 50,000 on 

 assets sold which was transferred to the statement of profit and loss. Trade 

 receivables  increase during the year Rs. 40,000 and trade payables also increase by 

 Rs. 60,000.  Compute the cash flow from operating activities by the indirect 

 approach. 

vFkok/OR 

 uhps nh xbZ tkudkjh ls vki jgfr, ds fy;s jksdM+ Hkqxrku dh x.kuk dhft,%&  

fooj.k jkf'k 

izkjaHk esa jgfr;k 40]000 

m/kkj Ø; 1]60]000 

var esa jgfr;k 38]000 

izkjaHk esa O;kikfjd ns;rk,a 14]000 

var esa O;kikfjd ns;rk,a 14]500 
      

 From the following informations, you are required to calculate the cash paid             

 for the inventory-  



Particulars  Amount 

Inventory in the beginning  40]000 

Credit parchase  1]60]000 

Inventory in the end 38]000 

Trade payables in the begining 14]000 

Trade payables in the end. 14]500 

[k.M & n 

Section - D 
 

  fucU/kkRed iz'u  % ¼'kCn lhek 200 'kCn½  

 Esssy type questions : ( word limit : 200 words)  
 

18½  nhid] jkds'k vkSj jkts'k lk>snkj gSA mudk ykHk foHkktu vuqikr% 2%2%1 gSA 31-03-2021 

 dks rqyu i= fuEu izdkj gSA         ¼4½ 

31-03-2021 dk rqyu&i= 

nkf;Ro jkf'k ifjlEifÙk;kWa jkf'k 

cSad vf/kfod"kZ 20]000 gLrLFk jksdM+ 10]000 

lkekU; lap; 30]000 cSdLFk jksdM+ 10]000 

iwath  

nhid & 50]000 

jkds'k&  40]000 

jkts'k&  30]000  

 

 

 

1]20]000 

nsunkj  30]000 

  LVkWd 30]000 

  QuhZpj  30]000 

  Hkou  60]000 

    

 1]70]000  1]70]000 

    fnukad 01-07-2021 dks jkds'k dh e`R;q gks xbZA ml fnu LVkWd vkSj QuhZpj dk ewY;kadu 

10% de fd;k x;k] Hkou dk ewY;kdau 70]000 :- fd;k x;k A [;kfr dk ewY;kdau 50]000 :- 

fd;k x;kA  

 fnukad 01-07-2021 dks iqueZwY;kadu [kkrk vkSj jkds'k dk iwath [kkrk cukb,A 

jkds'k ds fgLls dh jkf'k dk jkds'k dh ifRu dkss udn Hkqxrku dj fn;k x;kA  

 Deepak, Rakesh and Rajesh are partners in a firm. Their profit sharing Ratio is 2:2:1 

 on 31st march 2021 Their balance sheet was as under - 

balance sheet as on 31-03-2021 dk rqyu&i= 

Liabilities  Amount  Assets  Amount 

Bank overdraft 20]000  Cash in hand 10]000 

General reserve 30]000 Cash at bank 10]000 



 

  

 Rakesh is dead on 01-07-2021 on that day. Stock and furniture is under valued by 

 10% Building is valued Rs. 70,000. Goodwill is valued at Rs. 50,000. Rakesh's 

 share is paid cash to his wife. 

 Prepare revaluation Account and Rakesh's Capital account.   

vFkok/OR 

 31 ekpZ 2021 dks vk'kh"k] joh'k vkSj rfu'k dk rqyu i= bl izdkj gSA mudk ykHk 

 foHkktu vuqikr 3%3%2 gSS A                                              ¼4½ 

31-03-2021 dk rqyu&i= 

nkf;Ro jkf'k ifjlEifÙk;kWa jkf'k 

iwath  

vk'kh"k & 7]50]000 

joh'k&   6]50]000 

ruh"k&   5]00]000 

 

 

 

19]00]000 

Hkwfe 5]00]000 

fofo/k ysunkj 50]000 Hkou 4]00]000 

ykHk&gkfu [kkrk  1]00]000 la;= o e'khujh  9]00]000 

  QuhZpj 60]000 

  fofo/k nsunkj 80-000 

  LVkWd 1]00]000 

  jksdM 10]000 

 20]50]000  20]50]000 

      fnukad 01-05-2021 dks joh'k us lsokfuo`fr ys yhA ml fnu nkf;kRoksa o ifjlEifÙk;ksaa dk 

 iquewZY;kadu fuEu izdkj fd;k x;k& 

    LVkWd& 90]000 

    QuhZpj & 50]000 

    la;= o e'khujh & 8]60]000 

    Hkwfe& 8]00]000 

    [;kfr dk ewY;kadu 1]50]000 fd;k x;kA  

Capital 

Deepak & 50]000 

Rakesh&  40]000 

Rajesh&  30]000  

 

 

 

1]20]000 

Debtors 30]000 

  Stock 30]000 

  Furniture 30]000 

  Building 60]000 

    

 1]70]000  1]70]000 



 fnukad 01-05-2021 dks iquewZY;kadu [kkrk o joh'k dk iwath [kkrk cukb,A  

 Ashish, Ravish and Tanish are partners sharing profits in ratio of 3:3:2 . on 31st 

 March 2021. Their Balance Sheet was as under.     

balance sheet as 31-03-2021 

Liabilities  Amount  Assets  Amount 

Capital 

Ashish & 7]50]000 

Ravish &  6]50]000 

Tanish&  5]00]000 

 

 

 

19]00]000 

 Land 5]00]000 

Sundry creitors  50]000 Building 4]00]000 

Profit & Loss account 1]00]000 Plant and Machinery  9]00]000 

  Furniture 60]000 

  Sundry debtors  80-000 

  Stock 1]00]000 

  Cash in hand 10]000 

 20]50]000  20]50]000 

       

 Ravish retires on 01-05-2021. Assets and liabilities were revalued as under- 

    Stock & 90]000 

    Furniture & 50]000 

    Plant & Machinary & 8]60]000 

    Land& 8]00]000 

    Goodwill is valued Rs. 1]50]000  

 Prepare Revaluation Account and partners' Capital Account. 

  19½  jke ,.M dEiuh fyfeVsM us 10]000 va'k] 100:- okys izR;sd va'k dk fuxZeu 10 izfr'kr 

 izhfe;e ij fd;k ftudk Hkqxrku fuEu izdkj ls djuk FkkA                    ¼4½ 

    vkosnu&20 :- 

    vkoaVu&50 :- ¼40:-+10:- izhfe;e½ 

    izFke ekax&30:- 

    vafre ekax&10:-   



 lHkh ekax jkf'k;ka izkIr gks xbZ] flok; ,d va'k/kkjd ftlds ikl 200 va'k Fks] vafre ekax  

 dk Hkqxrku ugh dj ldkA mlds va'kksa dk gj.k dj fy;k x;kA bues ls 150 va'k lksfu;k 

 dks 75 :- iw.kZ Hkqxrku ij iquZfuxZfer dj fn;s x,A   

 dEiuh dh iqLrdksa esa vko';d tuZy izfof"V;kWa dhft,A 

 Ram & Company Ltd. Issued 10,000 equity shares of Rs. 100 each at 10 % 

 premium . The net amount payable was as follows:- 

    On application     Rs. 20 

    On allotment        Rs. 50 (Rs. 40+ premium Rs. 10) 

    On first call           Rs. 30 

    On Final call         Rs. 30 

 All the calls were received except one shareholder, holding 200 shares did not pay 

final call. His shares were forfeited. Out of these 150 shares were reissued to Sonia at Rs. 

75 per share fully paid up. 

 Give journal entries in the books of the company. 

 

vFkok/OR 

 jkSud dkWVu fyfeVsM us :- 100 izR;sd okys 6000 lerk va'kks ds 20 izfr'kr izhfe;e ij 

 fuxZeu ds fy, fooj.k if=dk tkjh djds vkosnu ekaxs tks fuEu izdkj ns; gS&                                                  

             ¼4½ 

    vkosnu ij &20 :- 

    vkoaVu ij &50 :- ¼izhfe;e lfgr½ 

    izFke ekax Ikj &30:- 

    vafre ekax ij &20:-  

      10]000 v'kksa ds fy, vkosnu izkIr gq, vkSj 8000 va'kksa ds vkosnu dks ;Fkkuqikr vkoaVu 

 fd;k x;k rFkk 'ks"k vkosndksa dks mudh jkf'k okil ykSVk nh xbZA vkosnu ij izkIr vf/kd 

 jkf'k dk vkoaVu ij ns; jkf'k esa lek;ksftr fd;k x;kA   

 jksfgr ftldks 300 va'kksa dk vkoaVu fd;k x;k Fkk] vkoaVu o eakx jkf'k Hkqxrku djus 

 esa vlQy jgkA mlds v'kksa dk gj.k dj fy;k x;kA dEiuh dh iqLrdksa esa vko';d 

 tuZy izfof"V;kW dhft,A   



 Ronak cotton Ltd. Issued a prospectus inviting applications for 6000 equity shares 

 of Rs 100 each at a premium of Rs.20 per shares, payable as follows- 

    On application     Rs. 20 

    On allotment        Rs. 50 (Including premium) 

    On first call           Rs. 30 

    On Final call         Rs. 20 

           Applications were received for 10,000 shares and pro-rata allotment was made to 

 the applicants of 8000 shares and their money recived in excess on the application 

 was adjusted towards the amount due on allotment. The remaining applications 

 being refused and their money was returned . 

 Rohit,To whom 300 shares was allotted, failed to pay allotment and call money, 

 his shares were forfeited.   

 Give journal entries in the books of the company. 
     

20½  , fyfeVsM us 5 % izhfe;e ij 100 :- izR;sd ds 10]000] 10% _.k i= fuEuor~ Hkqxrku  

 ij fuxZfer fd,& 

 50 :- vkosnu ij] 55 :- vkoaVu ij izhfe;e ds lkFk ns; gSA  

 lHkh _.k i= iw.kZr% vfHknÙk jgs vkSj leLr /kujkf'k izkIr dh xbZ vko';d jkstukepk 

 izfof"V;kWa dhft, rFkk rqyu&i= esa n'kkZb,A  

          A Ltd issued 10,000, 10% debentures of Rs. 100 each at a premium of 5% payable 

 as follows: - 

 Rs. 50 on application  

 Rs. 55 on allotment with premium. 

 The debentures were fully subscribed and all money was duly received. 

  Record necessary journal entries and also show in the balance sheet. 

vFkok/OR 

 fuEu dh ,Dl fyfeVsM dh iqLrdksa esa vko';d tuZy izfof"V;ka ntZ dhft,& 

 ¼i½ 150] 7% _.ki= :- 1000 izR;sd _.ki= 5% CkV~Vs ij fuxZfer fd, x,A  

 ¼ii½ 120] 8% _.k i= 1000 :- izR;sd _.ki= dks 5% izhfe;e ij fuxZfer fd;s x,A  

 You are required to pass the journal etries relating to the issue of the debentures in  

 the books of  X Ltd. Under the following cases : 



i) 150, 7% debentures of Rs. 1000 each issued at 5% discount.  

ii) 120, 8% debentures of Rs. 1000 each issued at 5% premium.   


